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A O| 22t [H+]Z NS (proton donor=d At N|S)
. =20 [HY] O] [OH] HECLC} Bio| =X
. 0O, HCL ---> H+ + CL-

A7|: [H+] BFZ (proton acceptor—o“\ﬂf =)
8 Ljofl [OH] Of [H*] KL} 20| Z Xy
0|23 [OH] NS
. 0|, NaOH ---> Na* + OH-

Ab+ AHT| <---> salt + water
0f|, HCL + NaOH <--->NaCl + H20



Off A 2H SH |



o JAOIO| =8 pH: 7.35-7.45

M= pH 7.35 - 6.80
pH<6.80 -> At 7t

2712|& : pH 7.45-8.0
pH >8.0 ->AlY 7t



SoEo| -7 B

« pH 7.35-745 FX|& {SiIM=
EtAHH2CO3) 1 : SEHHHCO3) 20

H2CO3 A% -> A (pH <7.0) £7}
HCO3 &% -> 7| (pH >7.0) 7}

*Eelol A8 1 pH 6.0 L[ (L)
oo : pH 1.0 ~ 2.0(ZAH.



« YAWMZS ™A pH =Fo = QX|5t7| &t 7| A:

37FX| A2l A MA S g=oEH &80 2.

1) DELY ost™ b= 7| ™ (Buffer system
2) 25 7| (Respiratory system)
3) AM7|™(Renal system)



- 0
 HCI(Z &) + NaHCO3(BhtE =4 LIEE=F X,
buffer)=H2CO3(=carbonic acid, 2FAH+
+ NaCl(neutral salt).
H2CO3 —CO2(I| 2 Hi=)+H20(AIE o 2 Hi=)




-1l inls

= .
=3



ol, THAPY A Al Ml 9 ZBHEHS S50} B3|y
AO|L} 4 O] 2(H+) B % &7}2| (7], HCOx-)
ME+ E= PR,

A 271215 0 AFOIA 27124 0| 2(OH-)HS

SBY UT2|S Al AHO| YT Y& (HCO3) 2 HiA

X tHH+) = SHAIE
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1) CHAFE At (Metabolic Acidosis)

-

a. #¢l
L oto| ot M, afol =4H, G| &4
SEAACEE G A= ME MitaF, I2st
ol aM(0] ZONo| oSt FEAN, FARS,
b. Atd &
A U B4
: Kussmaul's breathing (hyperventilation), @4 S L&,
= o=(dehydration), NS 4E[, {4, LIESH 4, 2,
Al E X OH
T O 1
FIEHHARL SUE TpAL A
AHZA AL Urine< pH 6.0



c. =A|

1) CiARS &S

—

(1) : felel ot g (o, S=BS A=F Al

(2) pH &

2% Qln2S X&HOZ HY ¢
== 25}l sodium bicarbonate = ¢l.

NaHCO3 2-5 mEg/kg 2 4-8 A|ZtE0F 1V, SC.

HAS: SO0 3 742 (muscle cramps)
3 B AIZEE T|E.
 BAE 2
(3) TollE 2rvds ud

)



1) CiARS &S

S8, 257 & UEA SEHS| A

o
(2) s 7tA 4K E 4

3) M 7| ™ d(intake and output =7H)
4) XY= =10t == F9



sodiu

Xl: AFE ZEA B o7

2) LHAHS E7tElS

27| St
2AL 4= 2 = 00 Ol A 1pC, CRHEFO
m bicarbonateL} X|AHN| &, CIEFO|

bicarbonate = E0], @S 7|AH EXc

At B, R g, AT, X[HE X7,
= Ot (irrtability), muscle twitching,
oM TE, BIn
pH 7.0 O| &t



2) LHAHS E7tElS

d. = X4
(1) Helef
(2) MoliZ =

(1) = HZ M ES| BHEH(potassium salts, ammonium
chloride, bicarbonate or lactate).

(2) HIEIL], &t L, &= Aot =5 2H

() 2T MY L 2

(4) xOlE'_I:J__||. HHA‘l o = |

oA |
X
O
>+_[IJ

ikl

A = 0{Monitor intake and output



a.2l9l
L Sl
(M= |0 Cr=Fe| CO22} carbonic acid HA| ZE2H).
=8 22k S oY, 7 2haf, 7N, E2EH S5,

LEMN &= (barbiturate poisoning).

oA |>
Hot p

2 S g #ek(dyspnea, labored breathing),
L2

Nd= XMoo, ol g, Sels. 2+ B9,

H O
Yy

ZICEA AL ABGA, Urine pH below 6.0



c. =Xf:
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(2) CO2 XN =
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a. & ¢l
. J}CE=2E7| (hyperventilation)
(M ZEL|Ho| CO2 & Brir 445 =2f)
2/2E MALT

o|E X I}

 —

Ol
x
210 WHE S5, DICHERAL HEFL], ZBE, o

M
-

vostek's and Trousseau's Signs : &4,
: RIEFAAL  ABGA,  Urine pH> 7.0

=
=8 H-olAHZd =257 E7t2[F, =¢

Al AFAI
1O ="



4) 25718 E7tElE

c. aM (1) A #Fa W
(2) CO2 BN S7rAl &4
( breathing into bag, 2lE5= 57|

(=12
=

8)



A-G7] =dd AFEHE
1. Sd JtAE M (Arterial Blood Gases Analysis, ABGA)

1) pHHESH7|- Normal pH 7.35-7.45
2) PaCO2AESEZ[- - N: 35-45 mmHg
3) HCOs~ AFES}H7| N: 22-26 mEg/L
4) HAFETY ZHAAST
-7fsoPEf”4 O'IP‘* SO +E5H7|
5) 20| EXCHH, 29| B E517|

*PaCO, : Indicates the partial arterial pressure of CO,
*HCO;- : Indicates the amount of base present,



A-17| SR SUH JpA EMX

— O

P
CHARE AFS | 7.35 - | 22mEqg/L
CHARS 27} t 7.45 - t 26mEq/L

2| S
SSM AS } 7.35 1 45mmHg i
SS M %F} t 7.45 | 35mmHg -
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)2l =0 ZFHR

(hydrogen ion).

(

G O] &<

i
| -
H ions

I =M do 2 CiX| &
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2. 2t3 7|170f 2|50
Ol M= (

SOt
A 517
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)OIL} ( 5
27| L} Jt

s,

1o 2 57172 H 2 (

F S KAl ZIC.

H+ or HCO3-
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